SECTI 217 Test 3 Schofield & Sims Mental Arithmetic 6 Answers SECTION 2 Test 4
Sy 203227 = < % The table below is part of a spreadsheet that Patrick used 1 1000-587+ M3 = gﬁ@ RCCEz6 The diagram shows a plot of land with a house and garden.
) o calculate the squares and cubes of the numbers 1 to 10. _ The gridlines are spaced Tcm apart.

2 24-(15-3)= 12 Some of the values in the table are missing. 2 24+(05-3)= 2

3 11.01 x 102 = 1 A B C 3 Write in d\gltS 108 FOOn GO0 .

4 Express 13 as a percentage. 123% 1 Number Sguare Cube 4 Write in order of size, starting ;Vegetéble |

: . ; 1 : with the smallest: : - garden

5 Whatis 150% of 3? 45 2:3,2.3,23%, 3. 23% 23 3 23 o

3 2 4 8 ; i f
6 Wiite one-ninth as a decimal 1o p 3 5 Divide 65 in the ratio 2:3, 25 29 Path
2 decimal places. .11
5 4 16 64 6 06x03= .18 -
7 .(1.25+5)+('|.25><5): 8.5 6 25 , 0L, , _
8 Approximate 69.802 to 7 6 36 216 N . 03572 P
8 roximate Q. to o
a 2 decimal places a §9.80 8 7 49 343 a,pzpdecima! places 5 036 g
b the nearest whole number. b 7¢ 9 8 512 9
% 5 a1 - by the nearest hundgredth. 0.28 ;gg

9 FEstimate to the nearest 100. Exti 5964 ! . : %
6358 = 7.8 200 1 10 100 1000 9 Estimate 155,21 10 the nearest 100. (R Drive E

10 If a = 3, evaluate 53 45 12 Total 3025 10 fx= 3,5= 4, evaluate 2X +y”. 22 - :

' 11 4a-20=2a s0a= 190
1? 5g-40=0 S0q= : 1 What is the content of cell 85?7 16 _
12 6 15
12 Express 28 as a product of prime _ _ R nn ! Gate |
numbers by filling in the blanks. "2 Whatls the content of cell 117 P Scate 1:200
3 What is the content of cell A1? Number . . 1 What length in metres is
1 “éVhath'S the Fhangquom f!]?'f ' represented by Tcm on the plan? 7m
uy three tulips at each’ 46
1 If 10 bapanas cost £2.40, then 4 \What number is missing from cell A6? 5 Y P P P 5> What size is the drive? amby i
one will cost 24P . 2 How many Euros for £50 at 1.2 Si7€ 5 e Grives mpy - iem
: 5 What number is missing from cell C6? 125 Euros to £17 £60 : .
2 How long will it take to pay £27.50 J - - 3 What is the area of the drive? Hm?
? o o
al £2.50 per week: Tk 6 What number is missing from cell C4? 77 3 3ftéin= 42in 4 Which has the bigger area
3 8pints =1 gallon. 40 pints = 5 gallons Wi ber is missing ¢ 1 89 - 4 15yd-12ft= 23ft= iyd the drive or the vegetable N
4 72 qallons = int 59Dt 7 at numbper Is missing Trom ce : . , garden, and by how much? drive by im?
¢ gallons = pints <P 5 How many days inclusive from
5 Pythagoras died in 497 BCE aged 85. 8 The value of cell B7 was found by 14 March tc 3 May? 5id 5 What length of fencing is needed
In what year was he born? 582 BCE using the formula A7*A7. to go all round the plot, not
: e 6 0010f35= ml 35ml including the gate? £6m
6 Find the cost of 2.25kq at What formula was used to calculate ) .
1 4o - the value of cell B10? ATFAL0 7 A wooden block measures - i
30p per zkg. £1.25 Berr e Acm x Bcm. Find T 6 What is the total area of the plot? 200m
X .

7 Abox is 5cm wide, 8cm long and 9 The value of cell C7 can be found by . total surface area. - Sdom? ; 5 2 2

35¢m high. Find its volume. 1400cm? Using the formula A7*A7%A7. | 7. Whatis the area of the garage: =
& A right-angled triangle with sides of .

‘8 A square with an area of 25¢cm? is What formula can be used to , ! 3crr% 4cmgénd 5cr:?s eniarg(i_id PE)Sy?the 8 What percentage of the plotis o
enlarged by the scale factor 2. calculate the cube of 97 ATOFATORATO scale factor 3. What is the length of occupied by the garage? ~ . B%
What is the area of the new square? 1ahem? , the fongest side of the new triangle? 15em .

10 What would be the result of using 9 What is the area of the house?

9 — A cardboard square has its the formula A10*8107 _ 729 9 A cardboard square has its

52 outiine marked on a sheet of ' 22 outline marked on a sheet of 10 What percentage of the plot is

paper. Whal is the smallest 11 The value of cell C12 was found ' = paper. How many times can occupied by the house?
angle Ofgotatl_on of the by using the formuia SUM{C2:C11). the sguare be rotated 90° A the ;5
square about its centre O i nad i 11 What is the area of the lawn:
that will bring it back onto What would be the result of using ;gSlgy;iocftr;t(r)i‘rl(i)ngna}nggaila? 4
its outline again? 80° the formula SUM(B2:B11)? 283 o 12 How many stone slabs 500mm

- ‘ _ 10 Approximate 2444kg to the square will be needed to pave

10 Approximate 201t to the nearestyard. 7yd 12 What number is missing from cell B127 385 nearest tonne. , 2t the path?

20 o | 21




